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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %

1 431 3 1.5 6 50.8 100

2 429 4.3 1.4 6 71.3 99.5

3 426 4 2.5 8 49.4 98.8

4 427 2.5 1.3 4 63.6 99.1

5 431 6 1.5 8 74.9 100

6 427 4.5 1.8 8 56.2 99.1

7 429 2.3 1.5 4 56.5 99.5

8 428 3.7 1.1 6 61.8 99.3

9 429 4.6 1.4 6 76.7 99.5

10 424 5.8 2.2 10 58.3 98.4

11 420 1.9 1.4 4 47.6 97.5

12 425 4.9 2.4 10 48.7 98.6
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A LEVEL ECONOMICS UNIT 3

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Q Mark Scheme Total 


4. With reference to the data and your own economic knowledge, outline why high 
GNI per capita may not necessarily result in a high value of the Human 
Development Index (HDI) 
 
AO1 – 2 marks 
 
Understanding that GNI per capita is one of the 4 components of the weighted 
Human Development Index. 
 
Understanding that whilst GNI per capita is often correlated with the HDI, the HDI 
consists of other components including life expectancy at birth, expected years of 
schooling for children, and average years of schooling for adults – these factors may 
impact on the HDI 
 
(n.b. some candidates may have been taught that there are just 3 components to the 
HDI, if they do not ‘split’ the education component into its two sub-components. This 
is acceptable). 
 
 
AO2 – 2 marks 
 
Use of data, for example: 


‐ Chile and Equatorial Guinea have the same GNI per capita but Chile’s HDI is 
higher, suggesting that healthcare and education is better in Chile 


‐ Gabon and Indonesia have the same HDI but Gabon’s GNI per capita is 
higher than Indonesia’s, suggesting that Indonesia’s healthcare and education 
is better than Gabon’s 
 


4 
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Sticky Note

Whilst the candidate does not show an understanding of the most up-to-date version of the HDI (i.e. there is a reference to literacy rates rather than mean years of schooling) it is clear that there is an understanding of the HDI being a composite measure incorporating 3 key areas, along with an understanding of why GNI may not be perfectly correlated with the HDI. Therefore both AO1 marks are awarded but there is no use of data, and so no AO2 marks are awarded. Total mark 2/4. 
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Sticky Note

The candidate is awarded 1 AO1 mark for showing some understanding of the HDI but is not awarded 2 marks because of the reference to wealth rather than income. Both AO2 marks are awarded because the candidate refers to all the data provided and accurately quotes then applies the data to outline why high GNI per capita does not necessarily lead to a high HDI value. Overall, the candidate is awarded 3/4.
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Sticky Note

No AO1 marks are awarded here as there is no clear evidence that the candidate understands what is meant by the HDI nor how it might be constructed / measured, or the relationship between GNI and HDI. No AO2 marks are awarded – the candidate has quoted data, but this is not enough for AO2 marks to be awarded since this requires the data used to be applied. Total mark 0/4.













5
Examiner


only


8


4


	


	


	


	


	


	


	


4.	 The information below is taken from the 2016 Human Development Report from the United 
Nations. Income, as measured by Gross National Income (GNI) per capita, is given in US dollars.


	 With reference to the data and your own economic knowledge, outline why high GNI per capita 
may not necessarily result in a high value of the Human Development Index (HDI).	 [4]
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9. With reference to the data, assess the view that globalisation is good for the 
Chinese economy. 
 
AO2 – 2 marks 
 
Use of 2 pieces of data, linked to globalisation, from the case study, for example: 


‐ International trade has led to rapid growth of ports and coastal areas such as 
Shanghai and Tianjin, which have high income per head ($29,245 and 
$30,611 respectively) 


‐ Dynamic efficiency in coastal areas due to increased contact with the rest of 
the world (perhaps through knowledge transfer, inwards FDI etc.) 


‐ Rising inequality due to coastal areas benefiting from trade more than inland 
areas 


‐ Redistribution of income from areas benefiting from trade/globalisation to 
poorer regions (e.g. 10 of China’s 33 provinces receive more than half their 
funding from richer regions) 


‐ Impact of 70% fall in coal/steel prices as global demand has fallen  
 
 
AO3 – 2 marks 
 
Explanation of how globalisation has led to one identified advantage. For example: 


‐ Increase in the value of exports relative to imports leads to an increase in AD 
and therefore an increase in real GDP 


‐ Building of infrastructure needed to access the global economy increases long 
run growth and the productive potential 


‐ Demand for labour is derived from the demand for exports therefore positive 
effects on employment 


 
 
AO4 – 2 marks 
 
Evaluation of whether globalisation is good for China. Evaluative points could include: 


‐ Need for further information, not just data on inequality and trade e.g. data on 
growth rates, employment, healthcare, education, HDI etc. 


‐ Globalisation has clearly been good for some parts of China and less so for 
others, although we cannot infer what the Chinese economy would have been 
like without greater openness to trade 


‐ Globalisation is about more than trade e.g. better communications (Chinese 
issues with state control of the media), capital flows (which are restricted into 
and out of China) etc. 


‐ Explanations of reasons why globalisation has been bad for China e.g. rising 
inequality and accompanying social problems, environmental degradation due 
to high volumes of manufacturing 


 
n.b. this answer is reversible 
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Sticky Note

Whilst the candidate includes a quote from the case study, it is not particularly well chosen as it does not tell the examiner much about the impact of globalisation, and there are not other references to China, therefore no AO2 marks are awarded. One AO3 mark is awarded for some reference to the creation of jobs but the point is not really developed; the later point regarding disposable income is a valid point, but again is undeveloped and so the analysis remains weak – answers are not marked using ‘point marking’. A brief AO4 point is made (that of low wages). Total mark 3/6.
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Sticky Note

There is some reference to the China case study in this candidate’s answer e.g. Go West, Belt and Road, and the fact that China has poorer areas. However, it is not applied to globalisation, and so just 1 AO2 mark is awarded. The answer is one-sided and considers possible benefits to the Chinese economy (2 x AO3 marks) but there is no evaluation of the impact of globalisation on China. Total mark 3/6.
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Sticky Note

This is a very good answer. The China context is fully embedded in the answer (coastal manufacturing, the state of China in the 1970s, inequality) therefore both AO2 marks are awarded. The answer is well-structured in terms of a fairly equal split between an argument in favour and an argument against the positive impact of globalisation, using accurate economic terminology and theory. Total mark 6/6.
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Section B


Answer all the questions in the spaces provided.


China’s economy is characterised by high levels of inequality. Households in coastal regions enjoy a 
much higher GDP per capita than households inland (see Figure 1 and Table 1). 


Figure 1 – the unequal distribution of income in China 


© WJEC CBAC Ltd.


Table 1 – annual income and population of selected Chinese provinces (April 2016)
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The causes of inequality in China
The pattern of inequality in China today is a reversal of the pattern in the 1970s when coastal areas were 
significantly poorer than inland areas. To reduce the 1970s inequality, China’s government established 
Special Economic Zones (SEZs) along the coast to encourage the production of manufactured goods 
for export from the newly built ports in Shenzhen and Shanghai. Inland areas continued to specialise 
in producing commodities, such as coal, that were essential to the manufacturing industry along the 
coast. The result was rapid economic growth across China, especially in the coastal manufacturing 
sector which was most able to take advantage of the benefits of globalisation.


Rank Province Income per capita (in 
US $ at PPP) Population (’000s)


1 Tianjin 30 611 15 319


3 Shanghai 29 245 24 205


11 Chongqing 14 838 30 040


23 Sichuan 10 445 81 721


28 Tibet 9 073 3 208


31 (last) Gansu 7 419 25 952


China as a whole 14 175 1 371 220


Sources: CEIC; World Bank
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The widening income gap between coastal and inland China seen today is a result of a number of 
factors:
•	 Demand for the commodities produced by inland Chinese provinces has slowed as global 


economic growth has slowed. Coal and steel prices, for example, fell by nearly 70% between 
2011 and 2015.


•	 Government spending in some poor Chinese provinces has been wasteful. In the city of Ordos 
in Inner Mongolia, for example, the government built a brand new district that could house 1 
million people, but that stood empty for years.


•	 Despite subsidies from the Chinese government to poor provinces, these areas struggle to 
compete with highly skilled labour, efficient legal and financial institutions, and the “network 
effects” of the large urban coastal areas where dynamic efficiency and innovation is high. 


•	 Private sector research and development (R&D) in manufacturing industries is estimated to 
contribute over 50% to Chinese growth, with around 2% of GDP spent on R&D. That proportion 
is set to rise so much that spending on R&D in China is estimated to overtake the amount spent 
in the US by 2022. 


Chinese policies to reduce inequality and gain from globalisation
Worried about possible economic and social problems resulting from high levels of inequality and the 
failure of some parts of China to benefit from globalisation, the Chinese government has introduced 
a range of policies.
The 2001 “Go West” plan saw the Chinese government spend $325bn in poor, inland areas on 
capital infrastructure projects such as roads, railways and oil pipelines in order to tempt further 
investment by the private sector. This policy was effective in helping existing cities such as Xian and 
Chongqing to expand and modernise; Xian’s economic output has grown by 13% each year since 
the launch of the policy.
Another policy, from Autumn 2013, was the “Belt and Road” which attempted to link China with other 
Central and South-East Asian economies to stimulate trade between poorer areas of China and 
other countries. Richer Chinese provinces and cities were encouraged to provide aid and economic 
advice to “twinned” inland provinces and cities on everything from “how to start a business” through 
to helping universities develop cutting-edge courses. The Chinese government provided an initial 
$40bn, and also spent a significant amount on building transport hubs such as ports and freight train 
stations in other countries. 
China’s government also uses current spending in addition to capital spending. Redistributive fiscal 
policy ensures tax revenue collected from richer areas is spent on poorer areas; indeed, the local 
government in 10 of China’s 33 provinces receive more than half of their funding from taxes raised 
outside of their own province.
Coastal areas continue to grow, although more slowly than they once did, therefore workers continue 
to migrate from inland to coastal areas. China’s government estimates that around 300m people work 
outside of their hometown. Theoretically this migration should help to even out wages across China. 
However, many migrant workers are forced to leave their children behind at home with non-working 
relatives, such as grandparents, because of China’s hukou system (or household registration system) 
which prevents people from accessing state-provided healthcare and education anywhere other 
than their original hometown. Migrant workers send money back home to financially support their 
children, but may only get to visit once a year. This stressful family situation is now causing some 
migrant workers to return home, and fewer rural workers think that migration to coastal urban areas 
is desirable. As the flow of workers into China’s coastal economic powerhouses slows down, city 
workers gain bargaining power and can demand higher wages. This has forced some manufacturers 
out of business, or caused them to raise prices. Perhaps the Chinese government needs to do very 
little to help rebalance the economy; perhaps the free market is more alive in this socialist economy 
than we thought.


Sources: “Go West is an economic milestone for nation” from China Daily (9/12/11); “Rich Province Poor Province” 
from The Economist (1/10/16); “China migration: at the turning point” from the Financial Times (4/5/15); IMF’s World 
Economic Outlook Database April 2016; “China’s One Belt One Road plan greeted with caution” from the Financial Times 
(20/11/2015); “China’s rise as a major contributor to science and technology” from Journalist’s Resource (5/1/2015)
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Examiner


9.	 With reference to the data, assess the view that globalisation is good for the Chinese 
economy.	 [6]
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Q.10 With reference to the data discuss the view that government capital spending is a better 
method of reducing inequality in China than government current spending.  [10]


Band AO2 AO3 AO4 


4 marks 2 marks 4 marks 


3 4 marks 
 


Use of data is excellent and fully 
integrated throughout the 
answer, with strong and 
accurate reference to both 
capital spending and current 
spending, and in the overall 
context of the Chinese economy 
 


 4 marks 
 


There are at least two 
excellent evaluative points. 
Answers in this band are likely 
to reach a clear and supported 
judgement about whether 
capital spending is better than 
current spending in reducing 
inequality.  


2 3 marks 
 


There is good data use 
throughout the answer, referring 
to examples of both capital 
spending and current spending 
but with some imbalance 
between the two 
 


2 marks 
 


Good analysis of how either 
government capital spending 
or current spending can 
reduce inequality 


3 marks 
 


Good evaluation, making at 
least two evaluative points of 
which one will be well 
developed. 
 
There is an attempt to 
compare the effectiveness of 
capital and current spending in 
reducing inequality in China. 


1 1 – 2 marks 
 


Limited reference to data – 
perhaps just capital spending or 
current spending 
 


1 mark 
 


Limited analysis of how 
either government capital 
spending or government 
current spending can reduce 
inequality 


1 – 2 marks 
 


Limited evaluation, perhaps 
just briefly focusing on how 
current spending may reduce 
inequality 


0 0 marks 
 


No use of data 


0 marks 
 


No analysis 


0 marks 
 


No evaluation 


 
Indicative content 
 
AO2 - Reference to data: 
 


‐ Examples of capital spending 
o Ports in the Special Economic Zones 
o Go West policy of inland infrastructure projects (roads, railways, oil pipelines) 
o Belt and Road policy in which the Chinese government injected $40bn and built transport 


hubs 
‐ Examples of current spending 


o Redistributive fiscal policy, collecting tax from rich areas and redistributing to poor areas 
o 10 of 33 provinces receive over half of their funding from taxes raised outside the province 
o Spending on healthcare and education according to the hukou system of household 


registration  
‐ Reference to unequal distribution of income from Figure 1, Table 1 or the text 


 
  







 


 


AO3 - Analysis issues (n.b. analysis must be focused on reducing inequality) 
 
How capital spending can reduce inequality: 


‐ Government capital spending causes LRAS / inelastic section of the AS curve to shift to the right, 
therefore leading to long run growth; the initial injection also causes AD to increase – this can 
reduce inequality if the capital spending occurs in poor areas, because output = income. Jobs are 
created due to capital infrastructure spending. 


‐ Can be targeted in poor areas to create jobs, multiplier effects etc. 
‐ Income and wealth from richer areas can be more easily distributed to poorer areas if infrastructure 


is improved e.g. migrant workers may find it easier to travel back home / send remittances, 
businesses may relocate to inland areas with cheaper labour / resources but still be able to access 
ports along the coast 


‐ Inland infrastructure can help poor inland provinces connect with other South East Asian countries 
overland rather than having to send everything to Chinese ports 


 
AO4 - Evaluation issues 
 
Why current spending is also needed, and why capital spending may be ineffective: 


‐ Current spending is also effective in reducing inequality: government current spending in poor areas 
causes AD to increase i.e. shift right, because G is a component of AD, therefore leading to short 
run growth – if the government spending is in the form of benefits then household income increases 
causing consumer spending to increase – poor households tend to have a high MPC so inequality 
may fall quickly 


‐ Because the current spending is financed by tax from richer areas, inequality may fall more quickly 
as a result of current spending compared with capital spending, especially because of the multiplier 
effect 


‐ Capital spending through the Go West policy seems to have only helped existing cities such as Xian 
and Chongqing, and not all poor areas 


‐ Current spending may need to be differentiated according to which areas are poorest e.g. 
households in Gansu may need higher benefits than those living in Sichuan 


‐ Capital spending may have a timelag and a larger cost 
‐ Impact of capital spending depends on the state of the global economy i.e. manufacturing centres 


need customers! 
‐ Evidence of wasteful capital spending e.g. Ordos in Inner Mongolia 
‐ Capital spending alone is not enough – need for effective financial and legal institutions 


 
n.b. this answer is reversible. 




















7A02-3
A03-1
A04-3



Sticky Note

This candidate is awarded 3 of the 4 marks available for AO2 (reference to commodities produced inland, the wasteful spending on an unused new district, and subsidies to poor area) but was lacking a little depth on some of the application points. The candidate attempts to pick up AO3 marks by linking capital spending on transport links to supporting poorer areas but does not explicitly link their argument to reducing inequality, therefore only picking up 1 AO3 mark. The evaluation is better in that it focuses on reducing inequality, therefore AO4 is awarded 3/4. Total mark 7/10.





















4A02-1
A03-1
A04-2



Sticky Note

This answer has very minimal reference to the China context (brief reference to the empty new district) and so only 1 AO2 mark is awarded. The attempt to explain how capital spending is a good method of reducing inequality fails to address the issue of inequality, simply referring to wages. Therefore just 1 AO3 mark is awarded. The evaluation is basic and vague, for example undeveloped / unexplained references to time lags. The opening sentence (referring to the need for capital and current spending to be combined) is just enough to allow 2 AO4 marks to be awarded here. Total mark: 4/10.
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Sticky Note

This candidate clearly indicates that they understand the difference between capital spending (infrastructure, for example $325bn spent in the Go West plan) and current spending (redistribution of tax revenue and the reference to 10 out of 33 provinces gaining from tax revenue raised elsewhere). The candidate also carefully links both capital and current spending to reducing inequality. The candidate is awarded all 4 AO2 marks (because of their ability to embed information from the extract throughout their answer), both AO3 marks (for the explanation of how attracting FDI would decrease unemployment and thereby reduce inequality) and 3 of the 4 AO4 marks for considering the pros and cons of the alternative current spending and assessing capital spending’s effectiveness in Inner Mongolia. A little more depth was needed for all AO4 marks to be awarded. Total mark 9/10.
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Section B


Answer all the questions in the spaces provided.


China’s economy is characterised by high levels of inequality. Households in coastal regions enjoy a 
much higher GDP per capita than households inland (see Figure 1 and Table 1). 


Figure 1 – the unequal distribution of income in China 


© WJEC CBAC Ltd.


Table 1 – annual income and population of selected Chinese provinces (April 2016)
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The causes of inequality in China
The pattern of inequality in China today is a reversal of the pattern in the 1970s when coastal areas were 
significantly poorer than inland areas. To reduce the 1970s inequality, China’s government established 
Special Economic Zones (SEZs) along the coast to encourage the production of manufactured goods 
for export from the newly built ports in Shenzhen and Shanghai. Inland areas continued to specialise 
in producing commodities, such as coal, that were essential to the manufacturing industry along the 
coast. The result was rapid economic growth across China, especially in the coastal manufacturing 
sector which was most able to take advantage of the benefits of globalisation.


Rank Province Income per capita (in 
US $ at PPP) Population (’000s)


1 Tianjin 30 611 15 319


3 Shanghai 29 245 24 205


11 Chongqing 14 838 30 040


23 Sichuan 10 445 81 721


28 Tibet 9 073 3 208


31 (last) Gansu 7 419 25 952


China as a whole 14 175 1 371 220


Sources: CEIC; World Bank
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The widening income gap between coastal and inland China seen today is a result of a number of 
factors:
•	 Demand for the commodities produced by inland Chinese provinces has slowed as global 


economic growth has slowed. Coal and steel prices, for example, fell by nearly 70% between 
2011 and 2015.


•	 Government spending in some poor Chinese provinces has been wasteful. In the city of Ordos 
in Inner Mongolia, for example, the government built a brand new district that could house 1 
million people, but that stood empty for years.


•	 Despite subsidies from the Chinese government to poor provinces, these areas struggle to 
compete with highly skilled labour, efficient legal and financial institutions, and the “network 
effects” of the large urban coastal areas where dynamic efficiency and innovation is high. 


•	 Private sector research and development (R&D) in manufacturing industries is estimated to 
contribute over 50% to Chinese growth, with around 2% of GDP spent on R&D. That proportion 
is set to rise so much that spending on R&D in China is estimated to overtake the amount spent 
in the US by 2022. 


Chinese policies to reduce inequality and gain from globalisation
Worried about possible economic and social problems resulting from high levels of inequality and the 
failure of some parts of China to benefit from globalisation, the Chinese government has introduced 
a range of policies.
The 2001 “Go West” plan saw the Chinese government spend $325bn in poor, inland areas on 
capital infrastructure projects such as roads, railways and oil pipelines in order to tempt further 
investment by the private sector. This policy was effective in helping existing cities such as Xian and 
Chongqing to expand and modernise; Xian’s economic output has grown by 13% each year since 
the launch of the policy.
Another policy, from Autumn 2013, was the “Belt and Road” which attempted to link China with other 
Central and South-East Asian economies to stimulate trade between poorer areas of China and 
other countries. Richer Chinese provinces and cities were encouraged to provide aid and economic 
advice to “twinned” inland provinces and cities on everything from “how to start a business” through 
to helping universities develop cutting-edge courses. The Chinese government provided an initial 
$40bn, and also spent a significant amount on building transport hubs such as ports and freight train 
stations in other countries. 
China’s government also uses current spending in addition to capital spending. Redistributive fiscal 
policy ensures tax revenue collected from richer areas is spent on poorer areas; indeed, the local 
government in 10 of China’s 33 provinces receive more than half of their funding from taxes raised 
outside of their own province.
Coastal areas continue to grow, although more slowly than they once did, therefore workers continue 
to migrate from inland to coastal areas. China’s government estimates that around 300m people work 
outside of their hometown. Theoretically this migration should help to even out wages across China. 
However, many migrant workers are forced to leave their children behind at home with non-working 
relatives, such as grandparents, because of China’s hukou system (or household registration system) 
which prevents people from accessing state-provided healthcare and education anywhere other 
than their original hometown. Migrant workers send money back home to financially support their 
children, but may only get to visit once a year. This stressful family situation is now causing some 
migrant workers to return home, and fewer rural workers think that migration to coastal urban areas 
is desirable. As the flow of workers into China’s coastal economic powerhouses slows down, city 
workers gain bargaining power and can demand higher wages. This has forced some manufacturers 
out of business, or caused them to raise prices. Perhaps the Chinese government needs to do very 
little to help rebalance the economy; perhaps the free market is more alive in this socialist economy 
than we thought.


Sources: “Go West is an economic milestone for nation” from China Daily (9/12/11); “Rich Province Poor Province” 
from The Economist (1/10/16); “China migration: at the turning point” from the Financial Times (4/5/15); IMF’s World 
Economic Outlook Database April 2016; “China’s One Belt One Road plan greeted with caution” from the Financial Times 
(20/11/2015); “China’s rise as a major contributor to science and technology” from Journalist’s Resource (5/1/2015)
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Examiner


10.	 With reference to the data, discuss the view that government capital spending is a better method 
of reducing inequality in China than government current spending.	 [10]
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